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ZOOLOGY
(Honours Generic/ Regular)
Paper : ZOO-HG- 4016/ZOO RC-4016 .
(Genetics and Evolutionary Biology )
: Full Marks : 60
Tl;me : Three hoqrs

The figures in the margin indicate
- Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the follo'wing : (any seven)
1x7=7

et frat W ey ﬁm (Rt abrs)
(i) .~ What is epistasis ? .
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| (i)

- (i)
(iv)
()

(vi)

: What 1s alleiomorph?'
| aﬁmtf Fde

What is chromosomal theory of -

. inheritance ?

‘wﬁfe—amwﬁaawe»

What is eo-dommance ?

TR-eeel B

At what stage does crossing over occur
in meiosis?

wﬁﬂwmﬂwf@ﬂﬁﬁww

What is ~sympatnc spe01at10n ?

(vii) What is mass extinction ?

’T‘Rﬁﬁ'@ﬁ”

(vzu) ‘Who postulated the theory of ‘Natural

()

selection’ ?

el o T T SRR

What is bioclast?

AR o
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~ Answer dny four of the following :

ﬁm4ﬁ?@mﬁms

" ‘Write the difference between

The scientific name of C'to M on'
-Ma
s ‘ ‘ > gnon_ Man

(RN MR I Y 2o N

2x4=8

smﬁvfm

)

(@)

(iii)

(iv)

(v)

Genotpye and Phenotype
Refimet i et

Recessive lethals and Dominant letnals "

TSR qOF IF 2O Yo
X-linked gene -and Y-linked.‘.gene
X7z o o Y-ﬂ':aa fm

Mendelian mhentance and Cytoplasrmc :
inheritance

GO I W% (PR ety Sisuic)

Complete hnkage and Incomplete
linkage

o gl W S SrETarl
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(vi) Interference and Coincidehce
THCF AF ﬁ’(.?li‘»‘f

(vii) Somatic mutation and Germmal
| mutation

mﬁwwﬁﬁwwﬁmw

(viii) Continuous variation and
Discontinuous variation

it exRel i Rt e

3. Ansv}ef ‘any three of the following :
5x3=15

et At ens R b B o ¢
(i) Whatis extra-chromosomal inheritance ?

Write about the important features of
extrachromosomal inheritance.

ez Al Ree AReaar qoiifT

- 33 oReRe Raw o

(i) Write about the incomplete linkage of
Drosophilla melanogaster with suitable

diagram. _ 1+4=5
: @meiﬂﬁmﬁamﬁﬁm
- Ra
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(i)

(v)

(v)

vy

(vii).

What is speciation ? ‘Write a note on
the limitations of biological speciation.
1+4=5

W@wqﬁmﬁm?mm
aﬁqﬁﬁwwa—aﬁ%mmu

Describe the modern- theory of
evolution.

Gl Tesifiss g TS Raca I 7411

Write a short note on human evolution.

R TR 8o s 5 (o

What is pleiotropic gene ? Describe the
phenomenon of pleiotropy with suitable
example. ' 1+4=5

RrergRe Bm & Sy Samar AT

@WE%‘»’[@‘@HR?‘WWI

What is multiple allele ? Write the main
characteristics of multiple alleles.

2+3=5
mf‘wmawﬁaqﬁmﬁsw? e A |
T 35 SRETR o

(viii) Write the characteristics of modern

horse. 5

o R RRETER B
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4. Answer any three of the following :

-~ 10%3=30

Wﬁﬁfm‘ﬁoﬁﬁvwmg

0

Describe the role of extinction on

. evolution.

5 WW@WW?@Wl

(i;')

(iii)

(iv)

What is macroevolutlon ? Describe the
principles and mechanisms of macro-

evolution. . 2+4+4= 1n
%= R fe o1 RorR TS e iderafe
3 ==

What is genetic variation ? Describe the

‘types and sources of genetic vanatlon
.2+4+4=10

mectﬁwtquaww%w
ﬁmacﬁtawn

What is fossil ? What are different»types
of fossil ? Write a note on formation of

fossil. 1+3+6=1Q
Glapy 2 Rfem o SRR & R 2 S
o151 8oie «fS (Bl el
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t(v)-A

'What is mutatlon ? What are dlfferent
types of mutation ? Describe .the’
'vconsequences and s1gn1flcance of
‘mutation in animal life. 1+2+(3+4)=10.

%@ﬁﬁﬁ@qﬁm%i@r?ﬁf‘ww@eﬂw
7z & e S oo @eﬂﬁa@a qoR

--‘W@Wﬁ‘ﬁfﬂl

vy

(vﬁ)

Wnte a.bout the pr1n01ples of genetlc
mappmg

'WW#WWWM:

What is linkage ? Describe the
mechanism of linkage. Write about
the significance of linkage. 2+5+3=10

Wﬁwﬁs?ﬂﬁmaﬁmaﬁwlwm B
ew%ﬁm

(vlu) Enumerate Darwms ‘theory' on

evolution. Write the difference between

, Lamarcklsm and Darwinism. 5+5=10
| RS i OO TOIW TS 59|
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